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Q-1 Discuss manager ial and routine finance functions. 17
OR
Q-1 Describe the factors affecting financial planning. 17
Q-2
(a) State the importance of cost of capital. 09
(b)  ABC Ltd. has the following capital structure:
Rs.
Equity (expected dividend 12%) 10,00,000
10% preference 5,00,000
8% loan 15,00,000
You are required to calculate the weighted average cost of capital, assuming 50% as
the rate of income-tax, 09
OR
Q-2
(a) Discuss the long term sources of finance. 09
(b)  State the importance of SEBI 09
Q-3
(a) Define capital structure and state its characteristics. 09
(b) The capital structure of ABC Itd is as under:
Equity share capital (Rs. 10 each) Rs. 15,00,000
10% Preference sha:&/capital Rs. 5,00,000
12% Debentures I Rs. 5,00,000

At present EBIT is Rs. 8,00,000 and tax rate is 40%. The company intends to raise
additional capital of Rs. 15,00,000 for expansion purpose, for which the company
has the following alternatives:
1) Entire amount is to be raised only through Equity share capital (Rs. 10 each).
2) Equity share capital (Rs. 10 each) and 10% Preference share capital in the ratio
 of 2:1 respectively.
3) Equity share capital (Rs. 10 each), 10% Preference share capital and 12%
Debenture in the ratio of 1:1:1 respectively.
Due to expansion, the EBIT will increase by 50% on the basis of above, calculate

EPS for each alternative and suggest the best alternative. ' 08
OR

)




Q-3
@
(b)

Q-4
(a)
(b)

Define feverage and state its importance. 09
From the following information calculate operating, financial and combined
leverages: 08
Particulars
Selling price per unit (Rs.) 15
Variable cost per unit (Rs.) 10
Sales (Units) 20,000
Fixed cost (Rs.) 30,000
Interest (Rs.) 15,000
Tax rate (%) 40
Number of equity shares 5,000
Explain the factors affecting working capital requirement, 18
ORrR
Discuss different types of capital budgeting decisions. 09
A machine cost Rs, 1,25,000. The cost of capital is 15%. The net cash inflows
are as under: 09
Year 1 2 3 4 5
CFs ¢ LsY | 25,000 35,000 50,000 40,000 25,000
PVIF@®15% | .870 756 .658 572 497

Calculate NPV and suggest whether the project should be accepted or not?
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